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Bu testte 80 soru vardir.

1. - 8. sorularda, climlede bos birakilan
yerlere uygun diigen sézclik veya ifadeyi
bulunuz.

Oceans cover about 70% of the Earth’s ----

and contain roughly 97% of the Earth’s water

supply.
A) pleasure B) surface
C) destruction D) prize

E) access

---- exercise may lead to different health
problems. You should get expert advice.

A) Excessive B) Colourless
C) Recent D) Available
E) Furious

The Sun shone so ---- this morning that it
woke me very early, so | am a bit sleepy.

A) accidentally B) brightly
C) rarely D) fluently
E) gratefully

If it is left untreated, a phobia may worsen
to the point in which the person’s life is
seriously ----.

A) replied B) composed
C) represented D) invented
E) affected
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| offered my guest a cigarette, but he said he
was trying to ---- and didn’t take it.

A) look for B) give up
C) make up D) take off
E) letdown

When Liz ---- into the store, she ---- a display
of sweaters on a table. She tried one but didn’t
like it.

A) had walked / had noticed
B) has walked / had noticed
C) walked / noticed

D) is walking / noticed

E) was walking / will notice

You ---- slowly through the tunnel, otherwise,
you will have an accident. Are you aware that
we are far from the city centre?

>

@]
P A =

had to drive

must drive

used to drive
were able to drive
would drive

W

m O

Because Mike is commonly known to be a
reliable employee, we think that he ---- soon.

>

@]
P A =

has promoted

had been promoted
is promoting

will be promoted
was promoted

W

m O

MODERN ENGLISH

Diger Sayfaya Geginiz.



( iINGILizCE

PRACTICE TEST - 1 w

24. When Robert fell off the ladder, ----. 27. ----if he doesn’t start drinking again.
A) after that he went to hospital for an A) The doctor says my father will be all right
inspection B) John became famous and met a lot of
B) heis carrying a tool box so as to fix the gate celebrities
C) someone must help him and take him to C) Jack put on his coat and went out without
hospital informing anyone
D) the children couldn’t help laughing at him D) The patient’s condition has got worse, so we
E) which was higher than he had expected should call the doctor
E) The customers drank too much last night
25. Fred’s parents have to force him to study ----. g 28. |think you should leave the heating on ----.
o
A) before he got bad marks in all his exams _z A) before the temperature increased much
B) as his grades are poor and he’s failing ® B) in case your room gets cold when we are out
C) whenever we found such a thing by the ?C» C) when you came back from school
seaside 9 D) because itis very hot inside and you don’t
D) if he hadn’t got poor marks again and again g need to wear thick clothes
E) that he is good at science and two other ° E) if you had noticed that it was too cold to stay
lessons g in that old house
z
2
2
26. Although many people think the man is guilty,
A) he must have stolen the money the woman
has saved up to now
B) | believe he is innocent
C) what was stolen is a gold watch
D) he murdered two people with his gun in the
crime scene
E) he was sentenced to fifteen years in prison
MODERN ENGLISH 4
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39. One can conclude from the passage, The
38. - 40. sorulari asagidaki parcaya gore Grapes of Wrath ----.
cevaplayiniz.
A) is primarily concerned with Steinbeck’s hard
and miserable life
B) is not a short novel
John Steinbeck was born in February of 1902. He was C) is the only novel written by John Steinbeck
one of the most recognizable and widely read American D) was written by John Steinbeck in 1968
authors of the 20" century. He was an incredibly prolific E) has been criticized for its subject as it was
writer who wrote in a number of different forms. He against the rules of the society
published a number of lengthy novels such as The
Grapes of Wrath and East of Eden. His novels were so
beloved that many of them were adapted for Hollywood
screenplays. During his career, he won two incredibly
prestigious literary awards. Steinbeck died on 20
December 1968 and couldn’t see his 70™ birthday.
£
o
°
e
@
=
C
o
C
o
©
o
S
2
2
2
38. It can be understood from the passage that 40.  Which of the following can be said about
John Steinbeck ----. John Steinbeck’s novels according to the
passage?
A) worked in various jobs before becoming a
writer A) They were very highly praised and loved by
B) wrote two novels and some poems during his many people.
lifetime B) His novels were the only art work that he had
C) wrote East of Eden at the age of 70 ever put PUt' _
D) received two literary awards throughout his C) One of his novels was nominated for two
career different literary awards but didn’t win.
E) wrote almost all his works until 1902 D) They failed to attract the attention of the
general public.
E) They were realistic novels about ordinary
people.
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( iINGILizCE

PRACTICE TEST - 1 w

51. Martin wishes he hadn’t hurt Jane’s feelings 53. Nobody but Jason was to be blamed for the
yesterday. lost documents.
A) Martin regrets hurting Jane’s feelings A) Jason wasn’t the only person to be blamed
yesterday. for the lost documents.
B) Martin hurt Jane’s feelings yesterday, but he B) No one except for Jason was responsible for
doesn’t seem to care about it at all. the lost documents.
C) Martin didn’t hurt Jane’s feelings yesterday. C) Contrary to what everybody thinks, Jason
D) Martin keeps hurting Jane’s feelings, but isn’t the one to be blamed for the lost
then he feels sorry about her. documents.
E) Martin shouldn’t hurt Jane’s feelings. D) Though everybody blamed Jason for the lost
documents, he was in fact innocent.
E) Nobody else but Jason blamed me for the
lost documents.
£
o
°
e
@
S
C
o
aE> 54. - 58. sorularda, verilen durumda
o séylenmis olabilecek sézii bulunuz.
£
z
52. Kathy has been playing volleyball since she z 54. You have been saving up to buy a new car
was ten. for some time. A close friend of yours, who
knows about this, asks you to lend him a large
A) It has been years since Kathy took up sum of money. Though you like him much, he
volleyball. is not a reliable person. So, you refuse him,
B) Kathy has been playing volleyball for more trying not to hurt his feelings. You say: ----
than ten years.
C) The last time Kathy played volleyball was ten A) If you promise to pay it back next week, why
years ago. not?
D) Kathy began to play volleyball when she was B) Iwish I could, but | have already put all my
ten years old. money in my wife’s saving account.
E) Kathy was able to play volleyball even before C) How dare you ask this? You haven't paid
she was ten. back the money | gave you last month yet.
D) I'm fed up with this. | don’t trust you anymore.
E) Il never lend you a penny. You know your
fault.
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73. Kara Olim adiyla da bilinen veba salgininin
on dérdiincii yizyilda Avrupa’nin niifusunun
yaklasik yizde altmisini 6ldirdiigi tahmin
ediliyor.

A)

The plague epidemic, also known as

the Black Death, killed 60% of Europe’s
population in the fourteenth century.

The plague epidemic, which is thought to
have killed 60% of Europe’s population in
the fourteenth century, is also known as the
Black Death.

The plague epidemic, which is also known as
the Black Death, is estimated to have killed
60% of Europe’s population in the fourteenth
century.

The Black Death is known to have killed
60% of Europe’s population in the fourteenth
century.

The plague epidemic, which people know

as the Black Death, killed more than 60%

of Europe’s population in the fourteenth
century.

74. insan beyni yaklasik yiiz milyar sinir
hiicresinden olusur ve bu hiicreler arasindaki
iletisim elektrokimyasal bir siirectir.

A)

The human brain consists of nearly

a hundred billion neurons and the
communication among these cells is an
electrochemical process.

Consisting of nearly a hundred billion
neurons, the human brain supports an
electrochemical communication between
these cells.

The human brain consists of nearly a
hundred billion neurons, among which there
is an electrochemical communication.

The human brain is composed of nearly

a hundred billion neurons and these

cells communicate with each other in an
electrochemical way.

The number of neurons in the human brain
is nearly a hundred billion and all of them
communicate among themselves.
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75.

Unutkanlik yaslanmanin bir sonucu olabilir
fakat ayni zamanda beynin gereksiz bilgiyi
temizleme yoludur.

A)

Absentmindedness is both a result of getting
older and the brain’s way of cleaning away
unneeded information.

One of the results of getting older is
absentmindedness which is also considered
as the brain’s way of cleaning away
unneeded information.

Absentmindedness may be a result of getting
older, but it is also the brain’s way of cleaning
away unneeded information.
Absentmindedness is not only a result of
getting older, but it is also the brain’s way of
cleaning away unnecessary information.
Absentmindedness which is the brain’s way
of cleaning away unneeded information is a
result of getting old.
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